
P.T.O

2019(Even) 
1614405

Time : 3Hrs. Sem - III /Chem Engg 

EEE

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4marks.

Answer all Five questions from Group C, each question 

carries 6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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10.

6

Discuss the advantages and disadvantages of 

electric drive.

What is meant by ‘rating of motor’?

‘ ’ 

example.

construction and working of P-N junction diode.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O
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6

The resistance of a Copper wire is RW. This 
wire is stretched to its double length.  The
new resistance is

(a) RW 

(b) R/2W

(c) 4RW

(d) 2RW

R

is that the
(a) Current should be proportional to the 
     voltage 
(b) Temperature should remain constant
(c) Voltage should be proportional to the 
      current
(d) All of the above

Two conductors when connected in series give an 

equivalent resistance of 25W. On connecting both

in parallel an equivalent resistance of 6W is obtained

Calculate the resistance of each conductor.

classification of various methods of electric heating

electrolysis and explain.
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(iii)

(iii)

(iv)

(ii)
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6.

                 GROUP  - C

7.

4

6

5 x 6 = 30Answer all Five Questions.

the field strength 
(a) remains the same 
(b) decreases
(c) increase
(d) All of the above

(a) 0.02 Sec
(b) 1 Sec
(c) 0.1 Sec
(d) None of these

Explain NOR gate with its truth table.

drive? Explain.

                 Describe the working principle of DC generator.
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4.

(iv)

(v)

(v)

(vi)
5.
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of a dc machine is
(a) dc 
(b) alternating
(c) pulsating
(d) none of these

(a) Providing a path for the flow of current
(b) Preventing sparking
(c) Reducing the losses
(d) None of these

Calculate the slip if the supply frequency is 60Hz

Explain.

Explain.
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(vii)

(vii)

(viii)

(vi)(xx)

Answer all Five Questions.
5x4=20

2.

OR

3.

4

4

 

core section of a dc machine is

(a) f 

(b) f/2

(c) 0.8f

(d) 1.2f

The phasor relationship between the primary
induced emf and the magnetic flux is
(a) 0º
(b) 90º
(c) 40º
(d) 78º

State kirchoff’s laws as applied to electrical circuits.

electrical circuits.

of alternating current in terms of its maximum 
value angular velocity and time.
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(xviii)

(xix)

(xx)

(xix)

(viii)

(ix)

(ix)

(x)

(a) Unipolar devices 

(b) Bipolar devices 

(c) Three terminal devices

(d) Both (b) and (c)

(a) 2 

(b) 8

(c) 10

(d) 16

factor of 100. The ratio of the current in the 
primary to that secondary is
(a) 1 
(b) 100
(c) 0.01
(d) 0.1

of 940 rpm the speed of the rotating field will be
(a) 940 rpm 
(b) 1000 rpm
(c) 1050 rpm
(d) 1100 rpm
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in the above question ( X ) will be

(a) 4 

(b) 6

(c) 8

(d) none of these

 ( X ) 

order of

(a) 0.5mm 

(b) 1mm

(c) 0.05mm

(d) none of these

temperatures up to 

(a) 2500º C

(b) 2000ºC

(c) 1150ºC

(d) 850ºC

are

(a) holes 

(b) electrons

(c) both (a) and (b)

(d) none of these

(xi)
(xvii)

(xi)

(xvii)

(xviii) (xii)

(x)(xvi)
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selection of electrical motor for a flour mill is 
(a) starting characteristics 
(b) braking
(c) running characteristics
(d) efficiency

give highest temperature in resistance heating
(a) Nichrome 
(b) Silicon carbide
(c) Copper
(d) Nickel- Cr- Fe alloy(Ni-Cr-Fe alloy)

are

(a) open slots 

(b) pratially closed slots

(c) completily closed slots

(d) none of these

constant speed operation and flexibility of 

control is 

(a) group drive 

(b) multmotor drive

(c) individual or multmotor drive

(d) individual drive

(xv)

(xv)

(xvi)

(xiv) (xii)

(xiii)

(xiii)

(xiv)
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***

Write the truth-tables of universal gates convert
(a) Binary(101101) =(   )2 10

(b) (63) =(  )10 2

(b) (63) =(  )10 2

State and explain properties of Ideal opamp.11.

               

OR

***

Write the truth-tables of universal gates convert
(a) Binary(101101) =(   )2 10

(b) (63) =(  )10 2

(b) (63) =(  )10 2

State and explain properties of Ideal opamp.11.
6 6


	1: PAGE 16 - 1
	2: PAGE 2 - 15
	3: PAGE 14 - 3
	4: PAGE 4 -13
	5: PAGE 12 - 5
	6: PAGE 6 - 11
	7: PAGE 10 - 7
	8: PAGE 8 - 9
	9: PAGE 17 

